

SRI SARADA COLLEGE OF EDUCATION (AUTONOMOUS), Fairlands, Salem-16 Affiliated to Tamil Nadu Teachers Education University, Chennai Re-Accredited by NAAC with "A" Grade (III Cycle)

Total Hours = Total No. of Working Days - 100 Days * 6 Hours/Day = 600 Hours

M.Ed. I - SEMESTER SCHEME OF THE EXAMINATION 2020 - ONWARDS

Theory -16 Credits @ 32 Hours / Credits = 512 Hours

					MAXIMUM MARKS		
S.NO	COURSE CODE	TITLE OF THE PAPER	CREDITS	HOURS	Internal	External	TOTAL
1	MCC 1	Philosophical Foundation of Education	4	4	30	70	100
2	MCC2	Educational Studies	4	4	30	70	100
3	MTE1	Teacher Education (Part 1)	4	4	30	70	100
4	MTC 1	Research Methodology	4	4	30	70	100
		TOTAL	16	16	120	280	400

Practicum Components – 6 Credits @ 64 Hours / Credits = 384 Hours

S.NO	COURSE CODE	COMPONENTS	CREDITS	MARKS
1	MPEW	Communication and Expository Writing	1	50
2	MPYE	Self Development : Yoga Education	2	50
3	MPIS	Field Internship with School	1	25
4	MPEP	Experimental Psychology	2	50
		TOTAL	6	175

M.Ed. II SEMESTER SCHEME OF THE EXAMINATION

Total Hours = Total No. of Working Days - 100 Days * 6 Hours/Day = 600 Hours

Theory -16 Credits @ 32 Hours / Credits = 512 Hours

		TITLE OF THE PAPER			MAXIMUM MARKS		
S.NO	COURSE CODE		CREDITS	HOURS	Internal	External	TOTAL
1	MCC3	Sociological Foundation of Education	4	4	30	70	100
2	MCC4	Educational Psychology	4	4	30	70	100
3	MCC5	Guidance and Counselling	4	4	30	70	100
4	MTE2	Teacher Education (Part – II)	4	4	30	70	100
		TOTAL	16	16	120	280	400

Practicum Components – 6 Credits @ 64 Hours / Credits = 384 Hours

S.NO	COURSE CODE	COMPONENTS	CREDITS	MARKS
2	MPI-II	Field Internship with Special School	1	25
3	MPDP	Dissertation Preliminary	2	50
4	4 MPDW Dissertation Work		3	50
		TOTAL	6	125

M.Ed. IIISEMESTER SCHEME OF THE EXAMINATION

Total Hours = Total No. of Working Days - 100 Days * 6 Hours/Day = 600 Hours

Theory -16 Credits @ 32 Hours / Credits = 512 Hours

	COURSE	TITLE OF THE PAPER			MAXIMUM MARKS		TOTAL
S.NO	CODE		CREDITS	HOURS	Internal	External	
1	MCC6	History and Political Economy	4	4	30	70	100
2	MSCC	Curriculum Studies	4	4	30	70	100
3	MTC2	Educational Statistics	4	4	30	70	100
4	MSL1 MSL2	Level Based(any one) Elementary Education in India Secondary and Higher Secondary Education in India	4	4	30	70	100
	TOTAL			16	120	280	400

Practicum Components – 6 Credits @ 64 Hours / Credits = 384 Hours

S.NO	COURSE CODE	COMPONENTS	CREDITS	MARKS
	CODE			
1	MPAW	Academic Writing	2	50
2	MPIC	Internship in Colleges	2	50
3	MPLP	Learning Portfolio	2	50
		TOTAL	6	150

M.Ed .IV SEMESTER SCHEME OF THE EXAMINATION

Total Hours = Total No. of Working Days - 100 Days * 6 Hours/Day = 600 Hours

Theory -16 Credits @ 32 Hours / Credits = 512 Hours

					MAXIMUM MARKS		
S.NO	COURSE CODE	TITLE OF THE PAPER	CREDITS	HOURS	Internal	External	TOTAL
1	MCC7	Advanced Techniques of Instruction	4	4	30	70	100
2	MSCC	Educational Information and Communication Technology-core	4	4	30	70	100
3	MST1 MST2	(any one) Educational Administration & Leadership Inclusive Education	4	4	30	70	100
4	MOE1 MOE2	(any one) Open Elective: Value Education / Women Studies	4	4	30	70	100
TOTAL			16	16	120	280	400

Practicum Components – 8 Credits @ 64 Hours / Credits = 512 Hours

S.NO	COURSE CODE	COMPONENTS	CREDITS	MARKS
1	MPDW	Dissertation Work	3	50
2	MPDA	Data Analysis	3	50
3	MPVA	Viva Voce	2	50
		TOTAL	8	150

